Name: 																		Date: 					
QuesT #5

Questions for this QuesT will be formatted into three columns:Questions in column 2 are a tier up from column 1.
Answering these correctly will result in an 80% for this question.
Questions in column 3 show mastery of the topic.
Answering these correctly will result in a 100% for this question.
Questions in column 1 are the basic, essential skills.

You must answer these to pass.

Answering these questions correctly will result in a 60% for this question.











Please ask if you have any questions!
MUST show work for full credit
1a) x + 3 = 8




2a) 7x = 28








3a) 7x + 3 = 38










4a)  + 5 = 13










5a) 5(x + 3) = 54










6a) 6x  	=      2x     +    20



Graph the following information in a bar graph

7a) 4 yellow, 5 blue, 1 red
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Graph the following equation:
8a) y = 2x + 1
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9a) How many millilitres in a litre? 							
How many grams in a kilogram? 							
How many centimetres in a metre?							


10a) Convert 13 Litres (l) to millilitres (ml)





11a) Convert 36 inches to feet (12in = 1ft)








Sequences
12a) 12	18	24	30	____


Solve:
13a)  =





Find the missing side:
14a)   











 









Find the area of the rectangle:
15a)  





 




Find the area of the triangle
16a)  












 


Find the volume
17a)  







1c) -14 – x = -5




2c) -5x = -32








3c) -5 - 4x  = 7










4c)  – 10 = -15 








5c)  = 4







6c) 5x 	-     45	   = 	5(3x - 3)





Create a line graph using the following information:
7c)   
0 sec
0 km/hr
5 sec
20 km/hr
10 sec
80 km/hr
15 sec
60 km/hr
20 sec
20 km/hr












Graph the following equation
8c) y = x - 1
x
y
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9c) (No question here)







10c) Convert 545 cm to mm







11c) Convert 8000 yards to kilometres (1760 yd = 1 mi, 1 mi = 1.6km)







12c) 1   1   2   3    5   8   13   21 	_____


Estimate
13c) 





Find the value of (a):
14c)  







 






Find the length of fence needed
15c) Cherise’s yard is 140m2. One side of the yard is 20m long. How much total fencing does Cherise need if she wants to fence her whole yard.








Find the total surface area
16c)  
















Find the surface area:
17c) This cylinder has no bottom










1b) x – 4 = -13




2b)  = 3







3b) 4c – 5 = -17










4b) 5 -  = -3










5b) 2(3x – 5) = -60










6b) 14x   -   7	=    6x    -	31





Create a pie graph with the following information:
7b) 9 red, 6 green, 6 yellow


















Graph the following equation
8b) y = -2x - 3
x
y
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[image: Image result for graph paper]



9b) (No question here)







10b) Convert 4.32 kilograms (kg) to grams (g)






11b) Convert 30 cm to inches (1 in = 2.54cm)








12b) 12	11	13	12	14	____


Solve:
13b) Colten’s yard is square. It is 100 sq. feet. How long is each side of the yard?




Find the missing side:
14b)  





















Find the area of the yard: 
15b) Sarah has a field that is 12 metres long and 3 metres wide. What is the area of her field?









Find the area of the circle
16b)  






 








Find the volume:
17b)  
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